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<ZZ . AEREORRELNEB/EDY O XEE (n=5,166) >
(188 A
S
#8  |2~SEICIE a~7ECIE 28MSIE | 1rAE | FEVE L pasm

&H 2,451 971 222 41 39 26 6
n=3,756 (65.3%) (25.9%) (5.9%) (1.1%) (1.0%) (0.7%) (0.2%)
2~3HI(Z1[E] 312 394 69 13 7 6 0
n=801 (39.0%) (49.2%) (8.6%) (1.6%) (0.9%) (0.7%) (0.0%)
4~7HIZ1[EH 95 101 59 10 4 1 1

8 |n=271 (351%)  (37.3%).  (21.8%) (3.7%) (1.5%) (0.4%) (0.4%)
& 2EmI1E 34 30 12 11 1 1 0
2 |n-s9 (38.2%) (33.7%) (13.5%) (12.4%) (1.1%) (1.1%) (0.0%)
o |17AIZ1[E 13 22 6 3 1 3 0
4 [n=48 (27.1%) (45.8%) (12.5%) (6.3%) (2.1%) (6.3%) (0.0%)
R ([EEAEETELLL 78 56 25 3 4 5 3
n=174 (44.8%) (32.2%) (14.4%) (1.7%) (2.3%) (2.9%) (1.7%)

oY YA A 11 6 3 2 0 3 2
n=27 (40.7%) 222%)  (11.1%) (7.4%) (0.0%) (11.1%) (7.4%)

a5 2,994 1,580 396 83 56 45 12
n=5,166 (58.0%) (30.6%) (7.7%) (1.6%) (1.1%) (0.9%) (0.2%)
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8. HWENDEL LOEFHMERFE (n=b,185)
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n=2278 (6.5%) (15.5%) (67.3%) (6.9%) (3.7%)
% | & 147 344 1,886 242 121
Al [n=2,740 (5.4%) (12.6%) (68.8%) (8.8%) (4.4%)
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n=5018 (5.9%) (13.9%) (68.2%) (8.0%) (4.1%)
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9. EHMICHIE - EFIBFD RS Y LOEROLE (n=5, 136)
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(2) EHAMICHE - EFBFORST Y CEROLE-BEEFESE (n=5, 136)
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<BZE .  RFYOEKOVELBERIEDK RO O REEH (n=5,108) >
(1B AN)
HESFEORKR
BH  2~3HI21H 4~7HI21E | 2BMIZ1E | 148216 'iﬁf‘;ﬁfﬁ DAL
[F 245 92 34 8 7 27 3
E R [n=416 (58.9%) (22.1%) (8.2%) (1.9%) (1.7%) (6.5%) (0.7%)
‘f*’%? Lz 3,479 701 232 79 39 142 20
ZZ)\ J(Jb n=4,692 (74.1%) (14.9%) (4.9%) (1.7%) (0.8%) (3.0%) (0.4%)
= |1F 3,724 793 266 87 46 169 23
n=5,108 (72.9%) (15.5%) (5.2%) (1.7%) (0.9%) (3.3%) (0.5%)
<BZE RTFUSERLKODLEELAETEORICFARZTLAED ORES (n=4,980) >
(&8 AN
EFLOBICTRRED
s\ H HIT R=E SHEE R FLREEL ZDith
[F 56 87 49 41 258 88 32
E R [n=413 (13.6%) (21.1%) (11.9%) (9.9%) (62.5%) (21.3%) (7.7%)
‘f%f"f DLNZ 193 339 148 144 1,428 2,755 135
;'Z)\ )é n=4,567 (4.2%) (7.4%) (3.2%) (3.2%) (31.3%) (60.3%) (3.0%)
= Wt 249 426 197 185 1,686 2,843 167
n=4,980 (5.0%) (8.6%) (4.0%) (3.7%) (33.9%) (57.1%) (3.4%)
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1 10. REZE~DIFERIRM (n=5, 144)
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11, HgaEEr 7 —~DFHmEY (n=5,137)
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